
計算 分　　秒 /６点

次の□にあてはまる数を求
もと

めなさい

(5)192+999

(2)   ＋　 －   ＋

(3) １．１ー   ＋ 2　 ー    = (4)3.92

＝　　　　(1)14.1 ー 34.2  ÷ 3＋ 2.9 ×４=
７
―
８

11
―
20

3
―
8

11
―
200

(6)    4    20    0.54=÷ × ×
2
―
9 

1
―
2

1
―
4

３
―
４

2
―
3

5
―
6

÷1.5 × 9 ÷  ÷ 6-3.96 11 ＝

÷ ×(1536 ÷5+1)-236  =
2
―
3

   14.1 ー 34.2  ÷ 3＋ 2.9 ×４
    =14.1 ー 11.4  ＋ 11.6
    =14.3

    14.3

＝   ＋　 －   ＋
７
―
８

３
―
４

2
―
3

5
―
6

＝   ＋　 －   ＋
21
―
24

18
―
24

16
―
24

20
―
24

＝    ＝ 1
43
―
24

19
―
24

1      (1   ) 
43
―
24

19
―
24

    １．１ー   ＋ 2　 ー    
11
―
20

3
―
8

11
―
200

   = １．１ー 0.55 ＋ 2.375 ー 0.055   
   = 2.87 

     2.87 

   3.92÷1.5 × 9 ÷  ÷ 6-3.96 11
   =3.92  -0.36
   =3.56  

   =3.56  

  =192+999÷ ×4ー 23636
2
―
3

   192+999÷ ×(1536 ÷5+1)-236  
2
―
3

  =192+999÷9 ー 236
2
―
3

  =192+111 ー 236
2
―
3

  =66
1
―
3

   66
1
―
3

×

×

 =              0.54÷ ×
2
―
9 

9
―
2

81
―
4

 =              0.54× ×
2
―
9 

2
―
9

81
―
4

 = 0.54

 0.54 (   )
27
―
50

9
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